

تکلیف شماره ۱۷

پارسین بیژادی ، روز دهم دفتر B

$$\Lambda \cos \pi = 1 + \tan^2 \pi : \frac{1}{\cos^2 \pi} \Rightarrow \Lambda \cos^2 \pi = 1 \quad (1)$$

$$\cos^2 \pi = \frac{1}{\Lambda} \quad \cos = \frac{1}{\sqrt{\Lambda}} \quad \pi = \frac{\pi}{\sqrt{\Lambda}} , \frac{\delta \pi}{\sqrt{\Lambda}} \quad \text{دو جواب}$$

$$\delta \sin^2(\pi) + \sqrt{\Lambda} \cos(\sqrt{\Lambda} \pi) = \delta \left(1 - \cos^2 \sqrt{\Lambda} \pi \right) + \sqrt{\Lambda} \cos^2 \sqrt{\Lambda} \pi = -\sqrt{\Lambda} \quad (2)$$

$$\delta - \delta \cos^2 \sqrt{\Lambda} \pi + \sqrt{\Lambda} \cos^2 \sqrt{\Lambda} \pi = (-\sqrt{\Lambda})$$

$$\delta \cos^2 \sqrt{\Lambda} \pi - \sqrt{\Lambda} \cos^2 \sqrt{\Lambda} \pi = \sqrt{\Lambda} \Rightarrow \cos^2 \sqrt{\Lambda} \pi = (-1) \text{ و } \cos^2 \sqrt{\Lambda} \pi = 1$$

$$\cos^2 \sqrt{\Lambda} \pi = 1 \rightarrow \pi = k\pi \rightarrow \{-\pi, 0, \pi\} \quad \Lambda \rightarrow \pi = \{-\pi, \pi\}$$

$$\cos^2 \sqrt{\Lambda} \pi = -1 \rightarrow \pi = \{-\pi, \pi\} \quad \text{۲ جواب}$$

$$\sqrt{\Lambda} \sin \pi (1 - \sqrt{\Lambda} \sin^2 \pi) + \sin \pi = 1 \quad (3)$$

$$\sqrt{\Lambda} \sin \pi - \sqrt{\Lambda} \sin^3 \pi + \sin \pi = \sqrt{\Lambda} \sin \pi - \sqrt{\Lambda} \sin^3 \pi = 1$$

$$\sin^2 \sqrt{\Lambda} \pi = 1 \quad \sqrt{\Lambda} \pi = \sqrt{\Lambda} k\pi + \frac{\pi}{\sqrt{\Lambda}}$$

$$\pi = \frac{\sqrt{\Lambda} k\pi + \frac{\pi}{\sqrt{\Lambda}}}{\sqrt{\Lambda}}$$

$$\text{مجموع جواب} = \frac{\pi}{4} + \frac{\delta \pi}{4} + \frac{9\pi}{4} = \frac{\delta \pi}{\sqrt{\Lambda}}$$

$$\frac{1}{\sin(\frac{\pi}{\sqrt{\Lambda}} + \sqrt{\Lambda} \pi)} + \frac{1}{\cos(\frac{\pi}{\sqrt{\Lambda}} + \sqrt{\Lambda} \pi)} = \frac{1}{\cos \sqrt{\Lambda} \pi} + \frac{1}{-\sin \sqrt{\Lambda} \pi} = 0 \quad (4)$$

$$\frac{\cos \sqrt{\Lambda} \pi - \sqrt{\Lambda} \sin \sqrt{\Lambda} \pi \cos \sqrt{\Lambda} \pi}{-\cos \sqrt{\Lambda} \pi \cdot \sin \sqrt{\Lambda} \pi} = \frac{\cos \sqrt{\Lambda} \pi (1 - \sqrt{\Lambda} \sin \sqrt{\Lambda} \pi)}{-\cos \sqrt{\Lambda} \pi \cdot \sin \sqrt{\Lambda} \pi} = 0$$

$$1 - \sqrt{\Lambda} \sin \sqrt{\Lambda} \pi = 0 \Rightarrow \sin \sqrt{\Lambda} \pi = \frac{1}{\sqrt{\Lambda}}$$

$$\text{جواب های ممکن در بازه } [0, \pi] = \frac{\pi}{\sqrt{\Lambda}} , \frac{\delta \pi}{\sqrt{\Lambda}} \Rightarrow \alpha = \frac{\sqrt{\Lambda} \pi}{\sqrt{\Lambda}} = \frac{\pi}{\sqrt{\Lambda}}$$

$$\tan \sqrt{\Lambda} \alpha = \tan \frac{\sqrt{\Lambda} \pi}{\sqrt{\Lambda}} = -\sqrt{\Lambda}$$



$$\cos\left(n + \frac{\pi}{\epsilon}\right) = \frac{\sqrt{r}}{r} \cos n - \frac{\sqrt{r}}{r} \sin n = \frac{1}{\sqrt{r}} \quad (D)$$

$$\Rightarrow \cos n - \sin n = \frac{\sqrt{r}}{\sqrt{r}}$$

$$\text{نحوه } \rightarrow 1 - r \sin n \cos n = \frac{r}{r} \Rightarrow \sin rn = \frac{1}{r}$$

$$m \times (\cos n - \sin n) = m \times \frac{\sqrt{r}}{\sqrt{r}} = \sqrt{4} (1 + r \sin rn)$$

$$m = r \times (1 + r \sin rn) = r (1 + r (\frac{1}{r})) = 4$$

$$\sin\left(n + \frac{\pi}{\epsilon}\right) = \cos\left(\frac{\pi}{r} - n\right) \quad (4)$$

$$\cos\left(\frac{\pi}{r} - n\right) = \cos\left(n - \frac{\pi}{\epsilon}\right) \rightarrow \text{نحوه } \cos$$

$$\left(\cos\left(n - \frac{\pi}{r}\right)\right)^2 = 1 \quad \cos\left(n - \frac{\pi}{r}\right) = \pm 1$$

$$n - \frac{\pi}{r} = rk\pi \rightarrow n = rk\pi + \frac{\pi}{r} \rightarrow \left\{\frac{\pi}{r}\right\}$$

$$n - \frac{\pi}{\epsilon} = rk\pi + \pi \rightarrow n = rk\pi + \frac{\epsilon\pi}{r} \rightarrow \left\{\frac{\epsilon\pi}{r}\right\} \quad \left. \begin{array}{l} \text{جواب} \end{array} \right\}$$

$$\text{نحوه تقسیم بر } r \rightarrow \frac{1}{r} \sin n + \frac{\sqrt{r}}{r} \cos n = \frac{\sqrt{r}}{r} \quad (V)$$

$$\sin\left(n + \frac{\pi}{r}\right) = \frac{\sqrt{r}}{r}$$

$$n + \frac{\pi}{r} = rk\pi + \frac{\pi}{\epsilon} \rightarrow n = rk\pi - \frac{\pi}{1r} \rightarrow \left\{-\frac{\pi}{1r}, \frac{r\pi}{1r}\right\}$$

$$n + \frac{\pi}{r} = rk\pi + \frac{r\pi}{\epsilon} \rightarrow n = rk\pi + \frac{\delta\pi}{1r} \rightarrow \left\{\frac{\delta\pi}{1r}\right\}$$

$$-\frac{\pi}{1r} + \frac{\delta\pi}{1r} + \frac{r\pi}{1r} = \frac{r\pi}{1r}$$

$$\epsilon \sin n \cdot (-\cos n) = 1 \Rightarrow -r \sin rn = 1 \quad (A)$$

$$\sin rn = \frac{-1}{r}$$

$$rn = rk\pi - \frac{\pi}{4} \rightarrow n = k\pi - \frac{\pi}{1r} \rightarrow \left[\frac{11\pi}{1r}, \frac{r\pi}{1r}\right]$$

$$rn = rk\pi - \frac{\delta\pi}{4} \rightarrow n = k\pi - \frac{\delta\pi}{1r} \rightarrow \left\{\frac{v\pi}{1r}, \frac{19\pi}{1r}\right\}$$

$$\frac{11\pi}{1r} + \frac{v\pi}{1r} + \frac{19\pi}{1r} + \frac{r\pi}{1r} = \delta\pi$$

$$\nu \cos^2 \alpha \cdot \nu \cos^2 \nu \alpha \cdot \nu \cos^2 \varepsilon \alpha = \frac{1}{\lambda} \quad (9)$$

كل عبارت ا، ب، تقسيم في اثنين

$$\nu \sin^2 \alpha \cos^2 \alpha = \frac{1}{\nu} \sin^2 \nu \alpha \cdot \nu \cos^2 \nu \alpha = \frac{1}{\varepsilon} \sin^2 \varepsilon \alpha$$

$$\frac{1}{\varepsilon} \sin^2 \varepsilon \alpha \cdot \nu \cos^2 \varepsilon \alpha = \frac{1}{\lambda} \sin^2 \lambda \alpha$$

$$\Rightarrow \frac{\frac{1}{\lambda} \sin^2 \lambda \alpha}{\sin^2 \alpha} = \frac{1}{\lambda} \Rightarrow \frac{\sin^2 \lambda \alpha}{\sin^2 \alpha} = 1 \Rightarrow \sin \lambda \alpha = \pm \sin \alpha$$

$$\left. \begin{aligned} \textcircled{1} \lambda \alpha &= \alpha + \nu k \pi \rightarrow \alpha = \frac{\nu}{\lambda} k \pi \Rightarrow \alpha_{\text{أيمان}} = \frac{4\pi}{\nu} \\ \textcircled{2} \lambda \alpha &= \nu k \pi + \pi - \alpha \rightarrow 4\alpha = \nu k \pi + \pi \Rightarrow \alpha_{\text{أيمان}} = \frac{\nu \pi}{4} \\ \textcircled{3} \lambda \alpha &= \nu k \pi - \pi + \alpha \rightarrow \nu \alpha = \nu k \pi - \pi \Rightarrow \alpha_{\text{أيمان}} = \frac{8\pi}{\nu} \\ \textcircled{4} \lambda \alpha &= \nu k \pi - \alpha \Rightarrow 4\alpha = \nu k \pi \Rightarrow \alpha_{\text{أيمان}} = \frac{\lambda \pi}{4} \end{aligned} \right\} \begin{array}{l} \text{سلسلة عدد} \\ A \text{ هو} \\ = \frac{\lambda \pi}{4} \end{array}$$

$$\tan \nu n = \frac{1}{\tan n} = \cot n = \tan \left(\frac{\pi}{\nu} - n \right) \quad (10)$$

$$\nu n = k \pi + \frac{\pi}{\nu} - n \rightarrow \varepsilon n = k \pi + \frac{\pi}{\nu}$$

$$n = \frac{k \pi}{\varepsilon} + \frac{\pi}{\lambda} \rightarrow \left\{ \frac{9\pi}{\lambda}, \frac{11\pi}{\lambda}, \frac{13\pi}{\lambda}, \frac{15\pi}{\lambda} \right\}$$

$$\frac{9\pi}{\lambda} + \frac{11\pi}{\lambda} + \frac{13\pi}{\lambda} + \frac{15\pi}{\lambda} = 4\pi$$